Math 10 Systems of Equations Worksheet One
Name:                                        .

1. Solve the following equations. 


x + 3 = 7
x – 4 = 8 
5x = 20
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x + 9 = 7
x – 4 = –2 
3x = – 12
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2x + 3 = 11
3x – 4 = 14 
3x – 1 = 14
4x – 4 = 20

2. Is x = 4 a solution for the following equations?


x + 3 = 7
x – 1 = 3 
5x = –20
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2x + 3 = 11
3x – 4 = 9 
x2 – 1 = 15
x2  – x = 10

3. Find 2 ordered pairs that are on the following lines. 


x + y = 7
x – y = 8 
y = 2x – 3 
2x + y + 4 = 0

4. Is the point (1 , 2) on each of the following lines?


x + y = 3
x – y = 1 
y = 2x – 3 
2x + y – 4 = 0

5. Solve the following systems by graphing.
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y = 2x + 1



x + y = 4




y = –
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x + 1



y = 3x – 8




3x – 2y + 8 = 0 



y = –5x + 4
6. Is (3 , 2) a solution to the following systems?


x + y = 5

x – y = 1 



y = 2x – 3 

x + 2y – 7 = 0

7. Create a system of two linear equations that has (5,1) as it’s solution.

8. From a graphical perspective, where “should a person look” for the solution 

to a system of equations?

9. Explain the meaning of the phrase “solve the following system" as it relates to the system

In other words, what significance does the solution to a system of equations have?

x + y = 4




 




x – y = 2
10. The system of equations    y = 3x + 9       and   y = –x – 3 was solved by graphing. 




· What is the solution?

11. Solving a system of 2 linear equations typically results in one point of intersection.

In other words, two lines usually intersect in one point.

We, therefore say that there is ONE solution.

This is NOT always the case!
In other words, two lines DON’T have to intersect in one point.

· Solve the following systems by graphing.



y = 2x + 1



2x – y + 4 = 0






y = 3x + 2



3x – y – 2 = 0
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